
SAP ABAP table MCLIPSWWS {MCLIPS Enhancements for IS-R}

MCLIPSWWS

EKORG [CHAR (4)]

EKSGB [CHAR (4)]

EKGRP [CHAR (3)]

DISPO [CHAR (3)]

LIFNR [CHAR (10)]

LTSNR [CHAR (6)]

SATNR [CHAR (18)]

AKTYP [CHAR (4)]

AKTHE [CHAR (4)]

PLGTP [CHAR (2)]

SAISO [CHAR (4)]

BWVOR [CHAR (1)]

BWSCL [CHAR (1)]

SERVG [CHAR (1)]

PRDHA [CHAR (18)]

LAND1 [CHAR (3)]

SVKORG [CHAR (4)]

SBZIRK [CHAR (6)]

SMATKL [CHAR (9)]

SABTNR [CHAR (4)]

KOLIF [CHAR (10)]

STRNR [CHAR (18)]

WKUNNR [CHAR (10)]

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 MCLIPSWWS-WKUNNR = KNA1-KUNNR 

0..N

0..N

LFA1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

 MCLIPSWWS-KOLIF = LFA1-LIFNR 

0..N

0..N

 MCLIPSWWS-LIFNR = LFA1-LIFNR 0..N

0..N

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 MCLIPSWWS-SATNR = MARA-MATNR 
0..N

0..N

 MCLIPSWWS-STRNR = MARA-MATNR 0..N

0..N

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 MCLIPSWWS-LAND1 = T005-LAND1 
0..N

0..N

T023

MANDT [CLNT (3)]

MATKL [CHAR (9)]

 MCLIPSWWS-SMATKL = T023-MATKL 
0..N

0..N

T024

MANDT [CLNT (3)]

EKGRP [CHAR (3)]

 MCLIPSWWS-EKGRP = T024-EKGRP 
0..N

0..N

T024D

MANDT [CLNT (3)]

WERKS [CHAR (4)]

DISPO [CHAR (3)]

 MCLIPSWWS-DISPO = T024D-DISPO 
0..N

0..N

T024E

MANDT [CLNT (3)]

EKORG [CHAR (4)]
 MCLIPSWWS-EKORG = T024E-EKORG 0..N

0..N

T026

MANDT [CLNT (3)]

EKSGB [CHAR (4)]
 MCLIPSWWS-EKSGB = T026-EKSGB 0..N

0..N
T171

MANDT [CLNT (3)]

BZIRK [CHAR (6)]

 MCLIPSWWS-SBZIRK = T171-BZIRK 
0..N0..N

T179

MANDT [CLNT (3)]

PRODH [CHAR (18)]

 MCLIPSWWS-PRDHA = T179-PRODH 

0..N

0..N

T6WP1

MANDT [CLNT (3)]

BWVOR [CHAR (1)]

 MCLIPSWWS-BWVOR = T6WP1-BWVOR 

0..N

0..N

T6WSP

MANDT [CLNT (3)]

SAISO [CHAR (4)]

 MCLIPSWWS-SAISO = T6WSP-SAISO 

0..N

0..N

TMBW1

MANDT [CLNT (3)]

BWSCL [CHAR (1)]

 MCLIPSWWS-BWSCL = TMBW1-BWSCL 

0..N

0..N

TSAB

MANDT [CLNT (3)]

ABTNR [CHAR (4)]

 MCLIPSWWS-SABTNR = TSAB-ABTNR 

0..N

0..N

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 MCLIPSWWS-SVKORG = TVKO-VKORG 

0..N

0..N

TWAT

MANDT [CLNT (3)]

AKTHE [CHAR (4)]

 MCLIPSWWS-AKTHE = TWAT-AKTHE 

0..N

0..N

TWPT

MANDT [CLNT (3)]

PLGTP [CHAR (2)]

 MCLIPSWWS-PLGTP = TWPT-PLGTP 

0..N

0..N

TWSG

MANDT [CLNT (3)]

SERVG [CHAR (1)]

 MCLIPSWWS-SERVG = TWSG-SERVG 

0..N

0..N

TWTY

MANDT [CLNT (3)]

AKTYP [CHAR (4)]

 MCLIPSWWS-AKTYP = TWTY-AKTYP 

0..N

0..N

WYT1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

LTSNR [CHAR (6)]

 MCLIPSWWS-LTSNR = WYT1-LTSNR 

0..N

0..N


